
 
Tests   Of   Ground   Combat 

TEST   1:   The   Ork   Invasion   of   Mahgos 
GOAL:   Can   defenders   inflict   substantial   damage   on   a   superior   invading   force? 
 
Fleet   in   Orbit:   1   Space   Hulk   (SDN,   Assault   6),   3   Roks   (CB,   Assault   2),   1   Basha   Croozers   (CR), 
2   Terrorships   (CL,   Gunship),   9   Brute   CTs.,   1   Transport   Fleet 
Assault   Capacity:   12 
Total   Transport   Capacity:   22 
Total   Bombardment:   10   +   30   +   4   +   12   +   9   =   5   ATR   Damage 
Units:   1x   Warboss   Band   ,   3x   Goff   Warband   ,   1x   Bad   Moon   Warband,   1x   Snakebite   Warband 
 
Units:   1x   Farseer   Council,   2x   Aspect   Warriors,   4x   Guardian   Cohort 
 

Name  EP  MAINT  TYPE  ATR  DEF  ATK  CR  CC  Special 

Warboss   Band  7  2/4  HVG  2  4  2  7  3  Shock   (2) 

Goff   Warband   1,   2  4  2/6  MDG  3  3  3  3  2   

Bad   Moon   Warband  2  2/6  LTG  2  2  3  1  1  Artillery 

Snakebite   Warband  3  1/6  LTG  2  2  1  1  1  Recon   (2) 

 
 

Name  EP  MAINT  TYPE  ATR  DEF  ATK  CR  CC  Special 

Farseer   Council  7  3/4  HVG  3  5  2  6  3  Support 

Aspect   Warriors  6  2/6  MDG  2  4  2  2  2  Shock   (1), 
Recon   (1) 

Guardians  2  1/6  LTG  3  2  2  2  1   

 
Orbital   Bombardment:   5   ATR   damage   →   One   Guardian,   one   Aspect   Warriors   down 
 
Round   1: 
Ork   special   values:   2   shock   lower   Farseer   Council   DEF   to   3,   2   Recon   lower   Guardian   ATK   by   2, 
Bad   Moon   artillery   lowers   Farseer   Council   DEF   to   1   (3   ATK   ­1   from   Aspect   Warrior   Recon) 
Eldar   Special:   Farseer   Council   support   increases   its   own   DEF   to   2,   Aspect   Warrior   reduces   Bad 
Moon   Warband   DEF   by   1   and   ATK   by   1 



Ork   Damage:   11   x   (4   +3   )   =   77   =   8   DMG 
(Assault   4)   Goff   A   =   3,   (Assault   4)   Goff   B   =   3,   (Assault   4)   Goff   C   =   3,   Snakebite   ATK   (½)   1, 
Boss   ATK      (½)1 
All   assigned   to   Aspect   Warrior   1,   Aspect   Warrior   1   destroyed 
Eldar   Damage:   8   x      (5   +   1)   =   48   =   5   DMG 
All   assigned   to   Bad   Moon   Warband,   destroyed 
 
Beachhead   established! 
 
ROUND   2 
Orbital   Bombardment   ATR   5 
Destroy   two   Guardians,   carry   over   one   to   Council 
Ork   Shock   2   reduce   DEF   of   Guardian   by   2,   Reduce   ATK   of   Guardian   by   2 
Farseer   Council   support   its   own   DEF   by   2 
Ork   Damage   12   x      (2+3)   =   6   DMG 
All   assigned   to   Farseer   Council,   1   DMG 
Eldar   damage   2   x   9   =   2   dmg 
Can’t   overcome   any   DEF 
Farseer   down   to   ⅓ 
 
Round   3 
Cleanup 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



Name  EP  MAINT  TYPE  ATR  DEF  ATK  CR  CC  Special 

Starfleet   Security  2  2/6  LTG  2  2  2  2  1  Marines 

Federation   Regulars  6  2/4  HVG  5  4  3  4  3   

 

Name  EP  MAINT  TYPE  ATR  DEF  ATK  CR  CC  Special 

House   Warriors  2  2/6  LTG  2  2  2  2  1  Peacekeepers 

Imperial   Warriors  7  3/4  HVG  4  3  4  3  3  Shock   (1) 
Marines 

 
 
Orbit: 
2   Transport 
2   Miranda   DD 
1   Excelsior   CR 
4   Peregrine 
3   B’Rel   CT 
1   K’vek   DD 
1   Boreth 
 
Ground 
2   Regulars   and   2   Security 
3   House   Warriors   and   1   Imperial   Warrior 
 
Orbital   Bombardment   Fed   =   9   =   1   ATR,   assigned   to   House   Warrior   1 
Orbital   Bombardment   Kling   =   5   =   1   ATR,   assigned   to   Fed   Security   1 
 
Kling   Shock   1:   Reduce   Security   #2   DEF   by   1. 
 
Feds:   8   x   8   =   6   DMG 
3   to   House   Warrior   #1,   destroyed 
3   to   House   Warrior   2,   1   damage 
Klingons   =   10   x   9   =   9   DMG 
Destroy   Starfleet   Regular   #1 
Beachhead   established   for   Federation 
 
Month   2 



Orbital   Bombardment   Fed   =   9   =   1   ATR,   assigned   to   House   Warrior   2,   destroyed 
Orbital   Bombardment   Kling   =   5   =   1   ATR,   assigned   to   Fed   Security   1,   destroyed 
 
Shock   1   reduces   Starfleet   Security   #2   DEF   ­1 
 
Federation:   5   x   10   =   50   =   5   DMG 
4   to   House   Warrior   #3,   destroyed 
1   leftover,   lost 
6   x   7   =   42   =   4   DMG 
4   to   Fed   Security   #2,   destroyed 
1   leftover,   lost 
 
Month   3 
Orbital   Bombardment   Fed   =   9   =   1   ATR,   assigned   to   Imperial   Warrior   1 
Orbital   Bombardment   Kling   =   5   =   1   ATR,   assigned   to   Fed   Regulars   1 
 
Shock   1   reduces   Fed   Regulars   1   DEF 
 
Federation:   3x7   =   21   =   2   DMG 
Klingons:   4   x   3   =   12   =   1   DMG 
Both   lost,   can’t   overcome   DEF 
 
 


